6.3 Worksheet

1. (6.3) A building owner contracts with a local construction company to build a brick
patio in a triangular courtyard. The three sides of the courtyard measure 45 ft, 55 ft 6in,
and 32ft 5in. The construction company charges $16.20 per square foot for materials
and installation. Find the cost of the patio to the nearest hundred dollars
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2. (6.3) A plot of land has been surveyed, with the resulting information shown in the
figure below. If AB = 330ft find the area of the plot.

Sin ($0°) = sin(3%5%27")

23D D
> BD: 3303'”\(‘5%") = 3(‘,55
SIIV\(,CSOD) C.
AADBA
- Ok D
Ao = é('S?O\( 365-3)(_5'\V\73°) }\0: ,\,\,\65(’ M‘&S
230 6 = 57:324'4 5@ ‘0.‘3 ’kv:\&“f)
5N (23) . %1n(207 A/ DBBC % >
BC 330 = _’z‘( 3653)(377)sn 657 At a‘\’ljﬂ/
D BC= ?»Dsinl23) < 377 = (auol.4al
S1a(209)

\ = A= 51324456 464014932 =f 1na,3l .%CFA(




3. (6.3) A four-sided plot of land, shown in the figure, occupies the cul-de-sac in a new
development. The land in the rest of the development has sold for $4.90 per square
foot. Suppose @ = 99.3°, 6 = 73.2°, a = 113ft, b = 42.0ft, ¢ = 126 ft, and d = 120ft.
Find the price of this plot to the nearest thousand dollars. (Hint: Draw a diagonal that
divides the plot into two triangles.)
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4. (6.3) A gardener is building four triangular wildflower beds along one wall of a museum.
The triangles will be equilateral with side length 9ft 3in. The wildflower seeds are to
be spread at a rate of one packet for each 15sq. ft. How many packets with the gardener

need. (Round your answer to the nearest integer)
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